

Solutions that **ADD UP** to greener, safer, more productive labs

Exceptional science begins in the labs with scientists who feel safe and confident in their environment. At Kimberly-Clark Professional* we are dedicated to providing innovative solutions that make your lab *greener*, *safer and more productive*. Let us show you how these solutions can add up to protection for your process and peace of mind for your workers.



It All Adds Up to reducing your solid waste stream

Did you know...

Your Kimberly-Clark* nitrile gloves and single-use apparel products can be recycled?



It All Adds Up

RightCycle by Kimberly-Clark Professional* is an innovative recycling program that diverts waste from landfills and helps you achieve, or even exceed, your organization's sustainability goals. The RightCycle Program will turn your used garments and gloves into raw materials to create eco-responsible consumer products and durable goods. Take the next step in your waste reduction journey and choose The RightCycle Program. It all adds up to zero landfill and a more efficient workplace.

For more information, ask your distributor sales professional or visit www.kimtech.com/rightcycle.

Gloves

Protection for your process Peace of mind for your workers





Kimberly-Clark* Purple Nitrile* Exam Gloves



- #1 most recognizable exam glove in the U.S.
- Highest level of Kimberly-Clark* nitrile exam glove protection for the lab
- 6 mil thickness
- Recyclable through The RightCycle Program

	,					*			
Description	Color		X-Small	Small	Medium	Large	X-Large	Gloves/Boxes	Total/Case
Kimberly-Clark* Purple Nitrile*	urple Nitrile* Ca	Fisher Scientific Cat. No.	19-149-863		19-149-863B	19-149-863C	19-149-863D	100/10 (XL - 90/10)	1,000 (XL - 900)
Exam Gloves 9.5 Ambi		KCP Code	55080	55081	55082	55083	55084	(XL - 90/10)	(AL - 900)
									M AL



Kimberly-Clark* Purple Nitrile-Xtra* Exam Gloves



- Chemotherapy protection
- Meets NFPA Standards 1999:2003
- 6 mil thickness
- Recyclable through The RightCycle Program

Description	Color		X-Small	Small	Medium	Large	X-Large	Gloves/Boxes	Total/Case
Kimberly-Clark' Purple Nitrile- Xtra' Exam Gloves 12" Ambi	Purple	Fisher Scientific Cat. No.	19-149-864	19-149-864A	19-149-864B	19-149-864C	19-149-864D	50/10	500
		KCP Code	55090	50601	50602	50603	50604		



Kimberly-Clark* Spring Green Nitrile Exam Gloves



- Superior quality
- Food handling certified
- Excellent wet and dry grip
- 4.7 mil thickness
- Recyclable through The RightCycle Program

Description	Color		X-Small	Small	Medium	Large	X-Large	Gloves/Boxes	Total/Case
	Spring	Fisher Scientific Cat. No.	19-169-067	19-169-068	19-169-069	19-169-070	19-169-071	200/10 (XL-180/10)	2,000 (XL-1.800)
	Green	KCP Code	43437 43438		43439	43440	43441	(VF-190/10)	(NL-1,800)

Gloves

Protection for your process Peace of mind for your workers



Kimberly-Clark* Forest Green Nitrile Exam Gloves



- Exceptional value
- Food handling certified
- Excellent wet and dry grip
- 3.5 mil thickness
- Recyclable through The RightCycle Program

Description	Color		X-Small	Small	Medium	Large	X-Large	XX-Large	Gloves/Boxes	Total/Case
Kimberly-Clark* Forest Fore Green Nitrile Exam Gloves Green	Forest	Fisher Scientific Cat. No.	19-169-072	19-169-073	19-169-074	19-169-075	19-169-076	19-169-077	200/10 (XL-180/10)	2,000 (XL 1,800)
	Green	KCP Code	43443 43444		43445	43446	43447	43448	(XL-160/10)	(XL-1,800)

Kimberly-Clark* Comfort Latex Powder-Free Exam Gloves



- Great feel
- Great value
- 5 mil thickness

Description	Color		X-Small	Small	Medium	Large	X-Large	XX-Large	Gloves/Boxes	Total/Case
Kimberly-Clark* Comfort Latex Powder-Free Exam Gloves Natural	Fisher Scientific Cat. No.	19-169-061	19-169-062	19-169-063	19-169-064	19-169-065	19-169-066	100/10 (XXL-90/10)	1,000 (XL-900)	
	KCP Code	43431	43432	43433	43434	43435	43436	(XXL-90/10)	(XL-900)	

Kimberly-Clark* Comfort Latex Gloves exceed ASTM D 3578 standards for critical defects (AQL-2.5); AQL for critical defects is 1.5.

Jackson Safety* G29 Solvent Gloves



- High dexterity, similar to thin mil gloves
- 12 mil thickness (at finger)
- 9 mil thickness (at palm)
- 12" length

Over
70%
/ U / O

Number of workers who felt they were able to perform tasks better with this glove.¹

Description	Color		X-Small	Small	Medium	Large	X-Large	XX-Large	Gloves/Boxes	Total/Case
Jackson Safety' G29 Solvent Gloves	Blue	Fisher Scientific Cat. No.	19-167-720	19-167-721	19-167-722	19-167-723	19-167-724	19-167-725	50/5	250
		KCP Code	49822	49823	49824	49825	49826	49827		

 $^{^{1}\}mathrm{Per}$ Kimberly-Clark market research study

[&]quot; This product contains natural rubber latex, which may cause allergic reactions. Safe use of this glove by or on latex sensitive individuals has not been established. This product should not be worn, or exposed to, individuals allergic to natural rubber latex.

Apparel

Guards against contamination with comfortable, sustainable protection

(a) Kimtech Pure* A7 Lab Coat

- Thumb loops to maintain glove/garment interface
- Improved arm coverage to reduce contamination risk
- Resistant to chemicals, blood & bodily fluids, and micro-organisms†
- Recyclable through The RightCycle Program



Description		Small	Medium	Large	X-Large	2-XL	4-XL	6-XL	Case Count
Kimtech Pure* A7 Lab Coat	Fisher Scientific Cat. No.	19-169-106	19-169-107	19-169-108	19-169-109	19-169-110	19-169-111	19-169-112	30/1 case
	KCP Code	47651	47652	47653	47654	47655	47656	47657	

COVER YOUR WRISTS COVER THE RISK! 100% of lab workers agreed that wrist coverage increases personal safety AND reduces contamination 100% of lab workers agreed that wrist coverage increases personal safety AND reduces contamination 100% of lab workers agreed that wrist coverage increases personal safety AND reduces contamination 100% of lab workers agreed that wrist coverage increases personal safety AND reduces contamination 100% of lab workers agreed that wrist coverage increases personal safety AND reduces contamination 100% of lab workers agreed that wrist coverage increases personal safety AND reduces contamination 100% of lab workers agreed that wrist coverage increases personal safety AND reduces contamination 100% of lab workers agreed that wrist coverage increases personal safety AND reduces contamination 100% of lab workers agreed that wrist coverage increases personal safety AND reduces contamination 100% of lab workers agreed that wrist coverage increases personal safety AND reduces contamination 100% of lab workers agreed that wrist coverage increases personal safety AND reduces contamination 100% of lab workers agreed that wrist coverage increases personal safety AND reduces contamination 100% of lab workers agreed that wrist coverage increases personal safety AND reduces contamination 100% of lab workers agreed that wrist coverage increases personal safety AND reduces contamination 100% of lab workers agreed that wrist coverage increases personal safety AND reduces contamination 100% of lab workers agreed that wrist coverage increases personal safety AND reduces contamination 100% of lab workers agreed that wrist coverage increases personal safety AND reduces contamination 100% of lab workers agreed that wrist coverage increases personal safety AND reduces contamination 100% of lab workers agreed that written agreed that

Kimtech Pure* A4 Cleanroom Sleeve

- Thumb loops, bound seams and advanced barrier fabric
- Available in two lengths
- Resistant to chemicals, blood & bodily fluids, and micro-organisms plus chemotherapy protection[†]
- Recyclable through The RightCycle Program



Description		Universal (18 inches)	XL (21 inches)	Case Count
Kimtech Pure* A4 Cleanroom Sleeve	Fisher Scientific Cat. No.	19-169-104	19-169-105	200/1 case
	KCP Code	49815	49816	

Kimtech Pure* A8 Unitrax* Shoe Covers

- 4Xs more grip than competitive product
- Low lint
- Seamless sole
- Recyclable through The RightCycle Program



4xMORE GRIP

Description		Small/Medium	Universal	XL/2-XL	Case Count
Kimtech Pure* A8 Unitrax* Shoe Covers	Fisher Scientific Cat. No.	19-169-650	19-169-651	19-169-652	300/1 case
	KCP Code	39370	39371	39372	

[†] Select chemicals and micro-organisms provided upon request.

Wipers

Because greater absorbency = greater productivity

Kimtech Science* Kimwipes* Delicate Task Wipers

- 18% more absorbent
- Absorbs 24% faster (Compared with the leading competitive wiper)



Description	Fisher Scientific Cat. No.	KCP Code	Color	Material	Size W" x L"	Boxes/Case	Wipers/Box	Total/Case
Kimtech Science* Kimwipes* Delicate Task Wipers	06-666A	34155	White	1-ply tissue	4.4" x 8.4"	60	280	16,800
Kimtech Science* Kimwipes* Delicate Task Wipers	06-666-1A	34133	White	1-ply tissue	11.8" x 11.8"	15	196	2,940
Kimtech Science* Kimwipes* Delicate Task Wipers	06-666C	34256	White	1-ply tissue	14.7" x 16.6"	15	140	2,100
Kimtech Science* Kimwipes* Delicate Task Wipers	06-666-11	34721	White	2-ply tissue	14.7" x 16.6"	15	90	1,350

Kimtech Pure* W4 Pre-Saturated Wiper

- One-step application of alcohol to critical surfaces
- Saves time.
- Reduces exposure to ethanol



Description	Fisher Scientific Cat. No.	KCP Code	Color	Material	Size W" x L"	Bags/Case	Units/Bag	Total/Case
Kimtech Pure* W4 Pre-Saturated Wipers	19-130-1574	06070	White	Polypropylene	9" x 11"	10	40	400

Scott® C-Fold Towels



Description	Fisher Scientific Cat. No.	KCP Code	Color	Ply	Size (W x L)	Qty/Pack	Packs/Case	Qty/Case
Scott® C-Fold Towels EPA	15-235-101	01510	White	1	10.1" x 13.15"	200 sts.	12 pks.	2,400 sts.

Kimtech Science* Benchtop Protector Sheet

- Excellent slip resistance with no tape required
- Flat, stable surface you can even write on it



Description	Fisher Scientific Cat. No.	Code	Color	Material	Size W" x L"	Wipers/Unit	Units/Carton	Total/Case
Kimtech Science* Benchtop Protector Sheet	06-666-32B	75460	White/Green	Airlaid/polyethylene	18" x 19.5"	50	8	400

Eyewear

Designed for a full range of applications to provide safety, quality and comfort

Jackson Safety* V90 Shield* Goggle Protection

• Curved face shield conforms to face

Description	Fisher Scientific Cat. No.	KCP Code	Pairs/Case
Jackson Safety* V90 Shield* Goggle Protection	19-706-028	18629	6



Jackson Safety* V80 Revolution* Goggle Protection

- 10% lighter than the competition
- Can be worn over most prescription glasses

Description	Fisher Scientific Cat. No.	KCP Code	Pairs/Case
Jackson Safety* V80 Revolution* Goggle Protection	19-014-381	14399	30



Jackson Safety* V30 Nemesis* Safety Eyewear

- First sunglass-style safety glass the original!
- Neck cord included

Description	Fisher Scientific Cat. No.	KCP Codes	Pairs/Case
Jackson Safety* V30 Nemesis* Safety Eyewear	19-150-0471 19-014-380	25676 25679	12



Jackson Safety* V10 Element* Safety Eyewear

- Lightweight popular styling at an economical price
- 100% polycarbonate

Description	Fisher Scientific Cat. No.	KCP Code	Pairs/Case	
Jackson Safety* V10 Element* Safety Eyewear	19-706-002	25627	12	



Kimberly-Clark* Guardall Shield* Face Shield

- Equipped with foam band and headband
- Can be worn with and without glasses or goggles
- Fog resistant

Description	Fisher Scientific Cat. No.	KCP Code	Eaches/Carton	Total/Case
Kimberly-Clark* Guardall Shield* Face Shield	18-999-2886	41204	40	40



IT ALL ADDS UP



TO AN EXCEPTIONAL LAB

For more information, visit www.kimtech.com



Exceptional Workplaces*

Our Guarantee

Your total satisfaction means everything to us. If, for any reason, our products do not meet your expectations, Kimberly-Clark will reimburse you[†] for your initial purchase, via FREE product, for up to \$1,000. For more information on KIMBERLY-CLARK PROFESSIONAL*, visit us online at www.kcprofessional.com. ‡ Guarantee extended to consuming end-user accounts only.

In the United States:

For customer service, call 1-800-766-7000 To fax an order, use 1-800-926-1166 To order online: www.fishersci.com



art of Thermo Fisher Scientific

Kimberly-Clark warrants that its products (1) comply with K-C's standard specifications as of the delivery date to K-C's authorized distributors/direct purchasers (2) comply with all K-C labeling representations; and (3) are manufactured in compliance with all applicable federal, state, and local laws in effect at the time and place of manufacture of the products. THIS WARRANTY IS IN LIEU OF ALL OTHER WARRANTIES, EXPRESS OR IMPLIED, INCLUDING ANY WARRANTY OF MERCHANTABILITY OR FITNESS FOR A PARTICULAR PURPOSE. K-C is not liable for any kind of special, incidental, or consequential damages. K-C's liability for breach of contract, tort or other cause of action shall not exceed the product purchase price. Purchasers and users are deemed to have accepted the above warranty and limitation of liability, and cannot change the terms by verbal agreement or by any writing not signed by K-C. To the extent required by applicable law, K-C does not limit its liability for death/injury resulting from K-C's negligence.